ORDER OF MATH OPERATIONS WITH NUMBERS -20 TO 20 (E-4)
CHALLENGE

Name:

Time: Score:

433)

(18 —=17)+ (17—=3+(—=10)) = (3 x (=3)) =10+ 3) x (=7)) =

434)

(O9x0+((32+=8+4+(—=13))) = ((14+ (—18)) = (—4))=(B3+ (—2)) =

435)

(24 (=1)—24+3—-3—17— (9 x 5) = (=15) — (—=19)) =

436)

(((11 = 20) x 0))=(=50)=((3 = 14) — 0 — (=10))+17—14 =

437)

(24115 11)) x 64+ (—8) = (14251 1) — 16 =

438)

((5+(=5)+ 10+ (=11)) = (—1)))+16+1—14—2+(—6) =

439)

0—(=1)+1x1Ix(=H)x(((2x4)+(—10)+6+(—14)) =

440)

(((28+4)—9) x1x9—(2x0+4x(=1)+(=6)) =
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